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1. BEHIE7RThe parameter is incorrect.” S4{AIEH), TN TIRERER, HIRTIRERENER
&

2. qosFMBEINIZR: [FEAIES] EFEORNAQOSHARRT, ARFIIRERZRHE_ELIKMEE
ATEEREEEMANE.

BEEEEFNERE, BREEEANqsKIRBEREAE=EOTHN, FREXER, EHRTXA
JRE.,

3. BEEXEONACLERRRE, tHHE T acZREARITM,

Type Total Reserved Configured Remaining Usage

VFP ACL 1024 768 0 256 75%

IFP ACL 16384 4096 1 12287 25%

IFP Meter 8192 2048 0 6144 25%

IFP Counter 8192 2048 0 6144  25%

EFP ACL 1024 0 0 1024 0%

EFP Meter 512 0 0 512 0%

EFP Counter 512 0 0 512 0%

4. BRI diagfile Slodfile{EREEBIEXEIRR™ MQCHHEFI F—EUHERMEITEN, RRES%
NE&EBERIecmpEREARET .

%@42174"Nov 20 09:02:41:869 2021 xxx DRVMNT/3/ERRORCODE: -Slot=1; Mdcld=1-Moduleld=0
xf46-Level=3; ErrCode = 0x6f460003, L3: No Enough Resource.

%@42175"Nov 20 09:23:06:901 2021 xxx/3/ERRORCODE: -Slot=1; Mdcld=1-Moduleld=0xf46-Level
=3; ErrCode = 0x6f460003, L3: No Enough Resource.

%@42176"Nov 20 09:37:06:793 2021 xxx/3/DrvDebug: -Slot=1;

LINE:2204

MOD:IPV4,TASK:kfib/1,-FILE id 0x40007,SLOT:1--:

Fail to create ECMP!Unit=0,iRv=-6,flag=0x140,uiEcmpCnt=17,iMpintf=200031.

%@42177"Nov 20 09:37:06:793 2021 Cloudcsp-QDYD-HD-S10510X-SW02 DRVPLAT/3/DrvDebug:
-Slot=1;

LINE:5673

MOD:IPV4,TASK:kfib/1,-FILE id 0x40004,SLOT:1--:



IRRECMPRIBEAE, BEEIIHEE 7 max-ecmp-num 128, TISTFHISMIRAKEHE, FIRHIEC
MPEIRED, IREFTREIUARANTBXASHNENIEH, SRS EMEREISNERSE
NEEHSEE, M KECMPEIR,

BRTTIE: max-ecmp-num 64 EFIZEEEN
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